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MATHS

BOOKS - SELINA MATHS (ENGLISH)

SOLVING (SIMPLE) PROBLEMS (BASED
ON QUADRATIC EQUATIONS)

1. Find two natural numbers which differ by 3

and the sum of whose squares is 117.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D7PISYWUyoCr

° View Text Solution

2. Five times a certain whole number is equal
to three less than twice the square of the

number. Find the number.

° View Text Solution

3. Sum of two natural numbers is 8 and the
difference of their reciprocals is T Find the

numbers.

| e |


https://dl.doubtnut.com/l/_D7PISYWUyoCr
https://dl.doubtnut.com/l/_vL1to0OLvNgr
https://dl.doubtnut.com/l/_Zf0WJs0I9VCl

L ® View Text Solution I

4. For the same amount of work, A takes 6
hours less than B. If together they complete
the work in 13 hours 20 minutes, find how
much time will B alone take to complete the

work ?

° View Text Solution

5. The hypotenuse of a right triangle is 13 cm

the difference between the other two sides is


https://dl.doubtnut.com/l/_Zf0WJs0I9VCl
https://dl.doubtnut.com/l/_8x6HM5Ay2wQw
https://dl.doubtnut.com/l/_Hsp5ECIuiwFm

7 cm.

Taking 'x' as the length of the shorter of the
two sides, write an equation in 'xX' that
represents the above statement and also solve
the equation to find the two unknown sides of

the triangle.

o View Text Solution

6. The length of a verandah is 3 m more than
its breadth. The numerical value of its area is

equal to the numerical value of its perimeter.


https://dl.doubtnut.com/l/_Hsp5ECIuiwFm
https://dl.doubtnut.com/l/_yXoLPNX5wDwr

(i) Takin 'x' as the breadth of the verandah,
write an equation in X' that represents the
above statement.

(i) Solve the equation obtained in (i) above
and hence find the dimensions of the

verandah.

° View Text Solution

7. By increasing the speed of a car by

10km / hr, the time of journey for a distance


https://dl.doubtnut.com/l/_yXoLPNX5wDwr
https://dl.doubtnut.com/l/_fRSB1ZM9OtPc

of 72 km is reduced by 36 minutes. Find the

original speed of the car.

o View Text Solution

8. Car A travels x km for every litre of petrol,
while car B travles (z + 5) km for every litre of
petrol.

(i) Write down the number of litres of petrol
used by car A and car B in covering a distance

of 400 km.

(il) If car A uses 4 litres of petrol more than car


https://dl.doubtnut.com/l/_fRSB1ZM9OtPc
https://dl.doubtnut.com/l/_SbfLxHQVPsD2

B in covering the 400 km, write down an
equation in x and solve it to determine the

number of litres of petrol used by car B for the

journey.

o View Text Solution

9. By selling an article for 24, a trader loses
as much present as the cost price of the

article. Calculate the cost price.

o View Text Solution



https://dl.doubtnut.com/l/_SbfLxHQVPsD2
https://dl.doubtnut.com/l/_1u58trHaCtcZ
https://dl.doubtnut.com/l/_vpZEbIJtE0pu

10. The sum of S of first n natural numbers is

1
given by the relation : § = §n(n + 1).Find n,

if the sum is 276.

o View Text Solution

11. A two digit number is such that the product
of its digits is 6. When 9 is added to this
number, the digits interchange their places.

Find the number.

o View Text Solution



https://dl.doubtnut.com/l/_vpZEbIJtE0pu
https://dl.doubtnut.com/l/_IA1qULrCGDw4

12. Five years ago, a women's age was the
square of her son's age. Ten years hence her
age will be twice that of her son's age. Find :

(1) the age of the son five years ago.

(i) the present age of the woman.

o View Text Solution

13. A motor boat, whose speed is 9km /h in

still water, goes 12 km downstream and comes


https://dl.doubtnut.com/l/_nbxAN3iFeCjN
https://dl.doubtnut.com/l/_3huq1464bLmt

back in a total times of 3 hours. Find the speed

of the stream.

° View Text Solution

14. A piece of cloth costs X200. If the piece was
5 m longer and each meter of cloth costs X2
less, the costb of the piece would have
remained unchanged. How long is the piece

and what is the original rate per metre ?

° View Text Solution



https://dl.doubtnut.com/l/_3huq1464bLmt
https://dl.doubtnut.com/l/_emfxGEwGWrRT
https://dl.doubtnut.com/l/_BiJLjbJ6gYVO

15. A shopkeeper buys a certain number of
books for X960. If the cost per book was X8
less, the number of books that could be
bought for X960 would be 4 more. Taking the
original cost of each book to be Xz, write an

equation in x and solve it.

o View Text Solution

16. Some students planed a picnic. The budget
for the food was X480. As eigth of them failed

to join the party, the cost of the food for each


https://dl.doubtnut.com/l/_BiJLjbJ6gYVO
https://dl.doubtnut.com/l/_CO78QhTZC220

member increased by 10. Find, how many

students went for the picnic ?

° View Text Solution

1. The product of two cosecutive integers is 56.

Find the integers.

o View Text Solution



https://dl.doubtnut.com/l/_CO78QhTZC220
https://dl.doubtnut.com/l/_Upng3tXh2s6n

2. The sum of the squares of two consecutive

natural numbers is 41. Find the numbers.

° View Text Solution

3. Find the two natural numbers which differ

by 5 and the sum of whose squares is 97.

o View Text Solution



https://dl.doubtnut.com/l/_VLKuNpP2mrOK
https://dl.doubtnut.com/l/_jtlUw57w7kwE

4. The sum of a number and its reciprocal is

4.25. Find the number.

° View Text Solution

5. Two natural numbers differ by 3. Find the
7

numbers, if the sum of their reciprocals is 10

o View Text Solution



https://dl.doubtnut.com/l/_mmUV48KReA0c
https://dl.doubtnut.com/l/_ySHpq3u5w369

6. Divide 15 into two parts such that the sum

3
f their reciprocals is —.
o elr reciprocals Is 10

° View Text Solution

7. The sum of the squares of two positive
integers is 208. If the square of the larger
number is 18 times the smaller number, find

the numbers.

o View Text Solution



https://dl.doubtnut.com/l/_KrZeG1QNR2sn
https://dl.doubtnut.com/l/_ezpWwco2Fbmc
https://dl.doubtnut.com/l/_YcsZLdZ2P6qE

8. The sum of suares of two consecutive

positive even numbers is 52. Find the numbers.

° View Text Solution

9.Find two consecutive positive odd numbers,

the sum of whose squares is 74.

o View Text Solution



https://dl.doubtnut.com/l/_YcsZLdZ2P6qE
https://dl.doubtnut.com/l/_c3PK76rYBsfF

10. The denominator of a positive fraction is
one more than twice the numerator. If the sum
of the fraction and its reciprocal is 2.9, find the

fraction.

° View Text Solution

1. Three positive numbers are in the ratio

1 1 1
—:—:—:. Fi [
531 ind the number if the sum of

their squares is 244.

° View Text Solution



https://dl.doubtnut.com/l/_UupW3flXTVxM
https://dl.doubtnut.com/l/_mcyWqftcaAaX

12. Divide 20 into two parts such that three
times the square of one part exceeds the

other part by 10.

o View Text Solution

13. Three consecutive natural numbers are
such that the square if the middle number
exceeds the difference of the squares of the
other two by 60.b

Assume the middle number to be x and form a


https://dl.doubtnut.com/l/_mcyWqftcaAaX
https://dl.doubtnut.com/l/_3VMFkWYz2g7w
https://dl.doubtnut.com/l/_ghNBLlBR2yRE

quadratic equation satisfying the above

statement. Hence, find the three numbers.

° View Text Solution

14. Out of three cosecutive positive integers,
the middle number is p. if three times the
square of the large is greater than the sum of
the squares of the other two numbers by 67,

calculate the value of p.

° View Text Solution



https://dl.doubtnut.com/l/_ghNBLlBR2yRE
https://dl.doubtnut.com/l/_Cz6GV2u8WvSc
https://dl.doubtnut.com/l/_iHLWzoaIPf0R

15. A can do a piece of work in 'x' days and B
can do the same work in (z + 16) days. If both
working together can do it in 15 days,

calculate 'x'.

° View Text Solution

16. One pipe can fill a cistern in 3 hours less
than the other. Two pipes together can fill the
cistern in 6 hours 40 minutes. Find the time

that each pipe will take to fill cistern.

l ° View Text Solution


https://dl.doubtnut.com/l/_iHLWzoaIPf0R
https://dl.doubtnut.com/l/_55e1t8SyPjPE

17. A positive number is divided into two parts
such that the sum of the squares of the two
parts is 20. The square of the larger part is 8
times the smaller part. Taking x as the smaller

part of two parts, find the numbers.

° View Text Solution



https://dl.doubtnut.com/l/_55e1t8SyPjPE
https://dl.doubtnut.com/l/_byHlt7YK1y8g

1. The sides of a right-angled triangle
containing the right angle are 4 cm and
(2z — 1) cm. If the area of the triangle is

30cm?, calculate the lengths of its sides.

o View Text Solution

2. The hypotenuse of a right -angled triangle is
26 cm and the sum of other two sides is 34 cm.

Find the lenghts of its sides.

o View Text Solution



https://dl.doubtnut.com/l/_zzc9joq1WIDL
https://dl.doubtnut.com/l/_s0IJwXJ51oez

3. The sides of a right-angled triangle are
(z — 1)em, 3xem and (3z + 1)em. Find :

(i) the value of x,

(i) the lengths of its sides,

(iii) its area.

o View Text Solution

4. The hypotenuse of a right-angled triangle

exceeds one side by 1 cm and the other side


https://dl.doubtnut.com/l/_s0IJwXJ51oez
https://dl.doubtnut.com/l/_YYcNlwR3BLPP
https://dl.doubtnut.com/l/_ZWsIfJ6crEqH

by 18 cm, find the lengths of the sides of the

triangle.

° View Text Solution

5. The diagonal of a rectangle is 60 m more
than its shorter side is 30 m more than the

shorter side. Find the sides of the rectangle.

° View Text Solution



https://dl.doubtnut.com/l/_ZWsIfJ6crEqH
https://dl.doubtnut.com/l/_UxX3oenRiEOB

6. The perimeter of a rectangle is 104 m and its

area is 640m?. Find its length and breadth.

° View Text Solution

7. A footpath of uniform width runs around
the inside of a rectangular field 32 m and long
and 24 m wide. If the path occupies 208m?,

find the width of the footpath.

o View Text Solution



https://dl.doubtnut.com/l/_ePm6Z7nuFYZN
https://dl.doubtnut.com/l/_GBRscGRkf0qe
https://dl.doubtnut.com/l/_2c8KibfhtlF6

8. Two squares have sides x cm and (z + 4)
cm. The sum of their areas is 656 sq. cm.
Express this as an algebraic equation in x and
solve the equation to find the sides of the

squares.

° View Text Solution

9. The dimensions of a rectangular field are 50
m by 40 m. A flower bed is prepared inside this
field leaving a gravel path of uniform width all

around the flower bed. The total cost of lying


https://dl.doubtnut.com/l/_2c8KibfhtlF6
https://dl.doubtnut.com/l/_rBbq3xeu6Lvv

the flower bed and gravelling the path at 30
and 20 per square meter, respectively, is

52, 000 . Find the width of the gravel path.

° View Text Solution

10. An area is paved with square tiles of a
certain size and the number required is 128. If
the tiles had been 2 cm smaller each way, 200
tiles would have been needed to pave the

same area. Find the size of the larger tiles.

° View Text Solution



https://dl.doubtnut.com/l/_rBbq3xeu6Lvv
https://dl.doubtnut.com/l/_jo2VExa0hKDI

11. A farmer has 70 m of fencing, with which he
encloses three sides of a rectangular sheep
pen, the fourth side being a wall. If the areas
of the pen is 600 sq. m, find the length of its

shorter side.

o View Text Solution

12. A square lawn is bounded on three sides by

a path 4 m wide. If the area of the path is g


https://dl.doubtnut.com/l/_jo2VExa0hKDI
https://dl.doubtnut.com/l/_Wa5xqmvFWIS4
https://dl.doubtnut.com/l/_ViH2fIjItRpk

that of the lawn, find the dimensions of the

lawn.

o View Text Solution

13. The area of a big rectangular room is
300m?. If the length were decreased by 5 m
and the breadth increased by 5 m, the area
would be unaltered. Find the length of the

room.

o View Text Solution



https://dl.doubtnut.com/l/_ViH2fIjItRpk
https://dl.doubtnut.com/l/_vXJL4ntOW41v

1. The spped of an ordinary train is x km per hr
and that of an express train is (z + 25) km
per hr,

(i) Find the time taken by each train to cover
300 km.

(ii) If the ordinary train takes 2 hrs more than
the express train, calculate the speed of the

express train.

o View Text Solution



https://dl.doubtnut.com/l/_1Gxiuk9Phn6f
https://dl.doubtnut.com/l/_UqUI7p49SlkT

2. If the speed of a car is increased by 10 km
per hr, it takes 18 minutes less to cover a

distance of 36 km. Find the speed of the car.

o View Text Solution

3. If the speed of an aeroplane is reduced by
40 fm per hr, it takes 20 minutes more to cover

1200 km. Find the speed of the aeroplane

o View Text Solution



https://dl.doubtnut.com/l/_UqUI7p49SlkT
https://dl.doubtnut.com/l/_yQm1qRAvWXYY
https://dl.doubtnut.com/l/_yaZBuyYYAcjQ

4. A car covers a distance of 400 km at a
certain speed. Had the dpeed been 12km /h
more, the time taken for the journey would
have been 1 hour 40 minutes less. Find the

original speed of the car.

° View Text Solution

5. A girl goes to her friend's house, which is at
a distance of 12 km. she covers half of the
distance at a speed of x km /hr and the

remaining distance at a speed of


https://dl.doubtnut.com/l/_yaZBuyYYAcjQ
https://dl.doubtnut.com/l/_uWtCDbd0Uauk

(z + 2)km /hr. If she takes 2 hrs 30 minutes

to cover the whole distance, find 'x'.

° View Text Solution

6. A car made a run of 390 km in 'x' hours. If the
speed had been 4km /hour more, it would

have taken 2 hours less for the journey. Find

X.

o View Text Solution



https://dl.doubtnut.com/l/_uWtCDbd0Uauk
https://dl.doubtnut.com/l/_LgslAxI0bDgv

7. A goods train leaves a station at 6 p.m,
followed by an express train which leaves at 8
p.m. and travels 20km / hour faster than the
goods train. The express train arrives at a
station, 1040 km away, 36 minutes before the
goods train. Assuming that the speeds of both
the trains remain constant between the two

stations, calculate their speeds.

o View Text Solution



https://dl.doubtnut.com/l/_qunCakNxUX79

8. A man bought an article for Xz and sold it
for X16. If his loss was x percent, find the cost

price of the article.

o View Text Solution

9. A trader bought an article for x and sold it
for X52, thereby making a profit of (z — 10)

percent on his outlay. Calculate the cost price.

o View Text Solution



https://dl.doubtnut.com/l/_XDheIUYDzeFG
https://dl.doubtnut.com/l/_LXFM8kVJh8ue
https://dl.doubtnut.com/l/_IqOuGem0tVky

10. By selling a chair for 75, Mohan gained as
much percent as its cost. Calculate the cost of

the chair.

o View Text Solution

1. The sum of S and n successive odd numbers
starting from 3 is given bt the relation :

S = n(n + 2). Determine n, if the sum is 168.

l ° View Text Solution


https://dl.doubtnut.com/l/_IqOuGem0tVky
https://dl.doubtnut.com/l/_Rzo08juESyrQ

2. A stone is thrown vertically downwords and
the formula d = 16t* + 4t gives the distance,
d metres, that it falls in t seconds. How ,long

does it take to fall 420 metres ?

° View Text Solution

3. The product of the digits of a two digit
number is 24. If its unit's digit exceeds twice

its ten's digit by 2, find the number.



https://dl.doubtnut.com/l/_Rzo08juESyrQ
https://dl.doubtnut.com/l/_xAulh7MRBW55
https://dl.doubtnut.com/l/_Py0X2oyZ89ju

View Text Solution

4. The ages of two sisters are 11 years and 14
years. In how many years time will the product

of their ages by 304 ?

o View Text Solution

5. One year ago, a man was 8 times as old as
his son. Now his age is equal to the square of

his son's age. Find their present ages.

| €8 |


https://dl.doubtnut.com/l/_Py0X2oyZ89ju
https://dl.doubtnut.com/l/_1h5Ns0GefVnT
https://dl.doubtnut.com/l/_M9VGH82Ln5y5

| ¥ View Text Solution J

6. The age of a father is twice the square of
the age of his son. Eight years hence, the age
of the father will be 4 years more than three
times the age of the son. Find their present

ages.

° View Text Solution

7.The sped of a boat in still water is 15km /hr

. It can go 30 km upstream and return


https://dl.doubtnut.com/l/_M9VGH82Ln5y5
https://dl.doubtnut.com/l/_arD7sjNxeb4h
https://dl.doubtnut.com/l/_S2pYrwLo0w31

downstream to the original point in 4 hours

30 minutes. Find the speed of the stream

o View Text Solution

8. Mr. Mehra sends his servant to the market
to buy oranges worth X15. The servant having
eaten three oranges on the way, Mr Mehra
pays 25 paise per orange more than the
market price. Taking x to be the number of

oranges which Mr. Mehra receives, form a


https://dl.doubtnut.com/l/_S2pYrwLo0w31
https://dl.doubtnut.com/l/_8w6f2ZRfFMjB

quadratic equation in x. Hence, find the value

of x.

° View Text Solution

9. X250 is divided equally among a certain
number of children. If there were 25 children
more, each would have received 50 paise less.

Find the number of children.

o View Text Solution



https://dl.doubtnut.com/l/_8w6f2ZRfFMjB
https://dl.doubtnut.com/l/_ATzTMWI5nEBy

10. An employer finds that if he increases the
weekly wages of each worker by X5 and
employs five workers less, he increases his
weekly wage bill from 3,150 to X3, 250.
Taking the original weekly wage of each worker
as Xz , obtain an equation in x and then solve

it to find the weekly wages of each worker.

o View Text Solution



https://dl.doubtnut.com/l/_DmDnizAE94zZ

11. A trader bought a number or articles for
X1, 200. The ere damaged and he sold each of
the remaining articles at X2 more than what
he paid for it, thus getting a profit of X60 on

the whole transaction ?

o View Text Solution

12. The total cost price of a certain number of
identical articles is X4, 800. By selling the

articles at X100 each, a profit equal to the cost


https://dl.doubtnut.com/l/_5u21kyDwX705
https://dl.doubtnut.com/l/_T6scwsCIwASo

price of 15 articles is made. Find the number

of articles bought.

° View Text Solution

1. The distance between two towns A and B is

216 km, and by rail it is 208 km. A car travels at
a speed of xkm /hr and the train travels at a
speed which is 16km /hr faster than the car.

Calculate :


https://dl.doubtnut.com/l/_T6scwsCIwASo
https://dl.doubtnut.com/l/_hOJptKnG2oER

(i) the time taken by the car to reach town B
from A, in terms of x,

(i) the time taken by ht etrain, to reach town B
from A, in terms of .

(iii) If the train takes 2 hours less than the car,
to reach town B, obtain an equation in x, and
solve it.

(iv) Hence, find the speed of the train.

o View Text Solution



https://dl.doubtnut.com/l/_hOJptKnG2oER

2. A trader buys x articles for a total cost of
600.

(i) Write down the cost of one article in terms
of x.

If the cost per article were X5 more, the
number of articles that can be bought for
X600 would be four less.

(i) Write down the equation in x for the above

situation and solve it for x.

o View Text Solution



https://dl.doubtnut.com/l/_wbKYqxjwVMCf
https://dl.doubtnut.com/l/_iQUQzQosUSD4

3. A hotel bill for a number of people for
overnight stay is 4, 800. If there were 4
people more, the bill each person had to pay,
would have reduced by X200. Find the number

of people staying overnight.

° View Text Solution

4. An aeroplane travelled a distance of 400 km
at an average speed of xzkm /hr. On the
return journey, the speed of increased by

40km / hr. Write down an expression for the


https://dl.doubtnut.com/l/_iQUQzQosUSD4
https://dl.doubtnut.com/l/_bvupqHlOrRFk

time taken for :

(i) the onward journey,

(i) the return journey.

If the return journey took 30 minutes less than
the onward journey, write down an equation in

x and find its value.

° View Text Solution

5.6, 500 was divided equally among a certain

number of persons. Had there been 15


https://dl.doubtnut.com/l/_bvupqHlOrRFk
https://dl.doubtnut.com/l/_SDRR9Sdfyiks

persons more, each would have got 30 less.

Find the original number of persons.

° View Text Solution

6. A plane left 30 minutes later than the
scheduled time and in order to reach its
destination 1500 km away in time, it has ti
increase its speed by 250km /hr from its

usual speed. Find its usual speed.

° View Text Solution



https://dl.doubtnut.com/l/_SDRR9Sdfyiks
https://dl.doubtnut.com/l/_BfjjBB9AXEcb
https://dl.doubtnut.com/l/_QuIj9saZcpJo

7.The two trains leave a railway station at the
same time. The first train travels due West and
the second train due north. The first train
travels 5km / hr faster than the second train.
If after 2 hours, they are 50 km apart, find the

speed of each train.

o View Text Solution

8. The sum S of first n even natural numbers is
given by the relation S = n(n + 1). Find n, if

the sum is 420.


https://dl.doubtnut.com/l/_QuIj9saZcpJo
https://dl.doubtnut.com/l/_BaoiLuplXrpH

o View Text Solution

9. The sum of the ages of a father and his son
is 45 years. Five years ago, the product of their
ages (in years) was 124. Determine their

present ages.

o View Text Solution

10. In an auditorium, seats were arranged in

rows and columns. The number of two rows


https://dl.doubtnut.com/l/_BaoiLuplXrpH
https://dl.doubtnut.com/l/_KnVRLWgD6zwZ
https://dl.doubtnut.com/l/_rhbfPwfg2OH4

was equal to the number of seats in each row.
When the number of rows was doubled and
the number of seats in each row was reduced
by 10, the total number of seats increased by
300. Find:

(i) the number of rows in the original
arrangement.

(ii) the number of seats in the auditorium

after re-arrangement.

o View Text Solution



https://dl.doubtnut.com/l/_rhbfPwfg2OH4

11. Mohan takes 16 days less than Manoj to do
a piece of work. If both working together can
do it in 15 days, in how many days will Mohan

alone complete the work ?

o View Text Solution

12. Two years ago, a man's age was three times
the square of his son's age. In three years
times, his age will be four times his son's age.

Find their present ages.

| & I


https://dl.doubtnut.com/l/_bwbj1rRgGehF
https://dl.doubtnut.com/l/_ReJZ2nKgVzOJ

| ¥ View Text Solution |

13. In a certain positive fraction, the
denominator is greater than the numerator by
3. If 1 is subtracted from the numerator and
the denominator both, the fraction reduces by

E7R Find the fraction.

o View Text Solution

14. In a two digit number, the ten's digit is

bigger. The product of the digits is 27 and the


https://dl.doubtnut.com/l/_ReJZ2nKgVzOJ
https://dl.doubtnut.com/l/_2kzUxWG8n1sK
https://dl.doubtnut.com/l/_J7rVLc5y8hMS

difference between the two digits is 6. Find

the number.

° View Text Solution

15. Some school children went on a excursion
by a bus to a picnic spot at a distance of 300
km. while returning, it was raining and the bus
had to reduce its speed by 5km /hr and it
took two hours longer for returning. Find the

time taken to return.

° View Text Solution



https://dl.doubtnut.com/l/_J7rVLc5y8hMS
https://dl.doubtnut.com/l/_GmfMXP3PtqAh

16. 480 is divided equally among 'x' children.
If the number of children were 20 more then

each would have got X12 less. Find 'x'.

o View Text Solution

17. A bus covers a distance of 240 km at a
uniform speed. Due to heavy rain its speed
gets reduced by 10km /h and as such it takes

two hrs longer to cover the total distance.


https://dl.doubtnut.com/l/_GmfMXP3PtqAh
https://dl.doubtnut.com/l/_NzJFByL9GNdg
https://dl.doubtnut.com/l/_hDAyBhlhMbtT

Assuming the uniform speed to be 'x' km /h,

form an equation and solve it to evaluate 'x'.

° View Text Solution

18. The sum of the ages of Vivek and his
younger brother Amit is 47 years. The product

of their ages in years is 550. Find their ages.

° View Text Solution



https://dl.doubtnut.com/l/_hDAyBhlhMbtT
https://dl.doubtnut.com/l/_XP82DKwL940M

